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JupyterNotebook|cH

1. JupyterNotebook®-
pip install

2. [Shift]+[Enter]

@ HLu

c @ localhost:8888/notebooks/Untitled.ipynb

) Jupyter Untitled Last Checkpoint: 2022/10/17 (unsaved changes)

File Edit View

B+ 8

In [1

Requirement
Reouirement
Requirement
Reouirement
Requirement
Reouirement
Requirement
Reouirement
Requirement

Insert

Home Page - Select or create X Untitled

@ B 4 ¥ | P»Run

already
already
already
already
already
already
al ready
already
al ready

Cell

L)

pip install matplotlib

Hote: you may need to restart

In[1:

Kernel

o C »

satisfied:
sat isfied:
satisfied:
sat isfied:
sat isfied:
sat isfied:
salisfied:
sat isfied:
satisfied:

7 JVICEL DX FFZE AT

matplotlib

o e

Logout

A

Widgets Help Not Trusted | Python 3 (ipykemnel) O

Code

packazing>=20.0 in c:¥users¥yoshi¥anacondzdd ib¥site-packazes (fron matplotlib) (21.3)
pyparsing»=2.2.1 in c:¥users¥voshiY¥anacondad¥lib¥site-packazes (from matelotlib) (3.0.4)
kiwisolwver>=1.0.1 in c:¥users¥voshi¥anacondad¥|ib¥site-packazes (from matplotlib) (1.3.2)

1
pillow»=B.2.0 in c:¥users¥voshifanacondad¥lib¥site-packazes (from matplotlib) (89.0.1)
prihon-dateutil>=2.7 in c:¥users¥vashi¥anacondad¥|ib¥site-packages (from matplotlib) (2.8.2)
cycler>=0.10 in c:¥users¥voshi¥anacondad¥|ib¥site-packazes (from matelotlik) (0.11.0)
fonttonls»=4.22.0 in c:¥users¥ynshi¥anacondad¥|ib¥site-packages (from matplotlib) (4.25.0)
numey>=1 .17 in c:¥users¥yoshi¥anacondad¥l ib¥site-packazes (from matelotlik) (1.21.5)
six>=1.5 in c:¥users¥voshi¥anacondad¥ | ib¥site-packages (from pyihon-dateutil>=2.7->matplotlib) (1.16.0)

the kernel to use updated packages.
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3. AJCEEHELT

4. 20FEHETEHRT yok i n=100000
ERSENSIn b riritsu=0. 05

for i in range(10):
risoku=int (yokin*riritsu)
yok 1 n= yok|n+r|soku
print(i+1, " &£B:", yokin)
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yok in=100000 #2540 yokin [Z 100000 Z{t A

riritsu=0.05 HEEHL riritsu 12 0.05 A

for i in range(10): HE# | #0~9[2ZEZ 5
risoku=int (yokinxriritsu) #2540 risoku [Z yokinkriritsu ZE#IZ L THKA
yok in=yok in+r i soku #Z 8 yokin [Z yokintrisoku Z{t A
print(i+1, &£H:", yokin) #i+1," FEB: yokin #&ETE
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import matplotlib.pyplot as plt

yok in=[100000]

riritsu=0. 05

for i in range(20):
risoku=int (yokin[i]*riritsu)
yok in. append(yokln[|]+r|soku)
print(i+1, &8, yokin[i+1])
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p t t | t | € ( :FUKur’I ) import matplotlib. pyplot as plt
kin=[100000]
p t X abel <, Year ? 3r/(i)r:zsu:O.OS
for 1 | (20) :
plt.ylabel ( YOkln ) o o isokumint (yokin[iT#riritsy
— kin. append (yokin[i]+risoku)
plt.plot(yokin, marker="o0") vokin. sppend (iR RIHERE
plt. grid(True) olt. title( fukuri’)
|t. xlabel (' Year’)
plt. show() o1t ylabel € Yokin')
plt.plot (yokin, marker="0")
plt. grid(True) n
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zouka=0. 01

capacity=1000

n=10

for i in range(1000) :
zoukasuu=n*zouka
gensyousuu=n* (n/capacity) *zouka
n=(n+(zoukasuu — gensyousuu))
print(n)
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zouka=0. 01 #oIEHnER
capacity=1000 i IRRINES
n=10 # A DEIKREL
for 1 in range(1000) :
zoukasuu=n*zouka # ISR
gensyousuu=nx (n/capacity)*zouka |# JE4 %k
n=(n+ (zoukasuu - gensyousuu)) # {E{AZR
print (n)
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import matplotlib.pyplot as plt

zouka=0. 01

capac1ty=1000

n=[10]

for i in range (1000) :
zoukasuu=n[1]*zouka
gensyousuu=n[il*(n[i]/capacity)*zouka
n. append (n[i]+ (zoukasuu — gensyousuu))
print(n[i+1])
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t.plot (n)

t.title ("number of |ife”)

t. xlabel ("time”)

t. ylabel ("number”)

t. show ()
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import matplotlib. pyplot as plt

zouka=0. 01

capacity=1000

n=[10]

for i in range(1000) :
zoukasuu=n[i]*zouka
gensyousuu=n[il*(n[i]/capacity)*zouka
n. append (n[i]+ (zoukasuu—gensyousuu) )
print (n[i+1])

plt.plot(n)
plt. title("number of life”)
plt. xlabel ("time”)

plt.ylabel (‘number”) SRk A —=3

plt. show()
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